ITI Electrician 1st Year Module 7 Wiring system and Estimation

(1). Which switch is used to control one lamp from three different places? | Udh
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(A) Pull switch | Gol &g

(B) Intermediate switch | 3°E€111||3QE%?=[
(C) Bell push switch | aﬁgﬂ%?[
(D) Toggle switch | €T R

Correct Answer : B &
QQ/

®
(2). Which location the service connection su eads to be connected at

consumer main board? | W*—hﬂ?ﬂﬁ@ W&rrqﬁmw@r
SSICRIRE . Q:\~

(A) ICcutout | ng?ﬁw GHB_G"\\'\

(B) Main switch | H3J @’

(C) Energy meter |

(D) Distribution board | s

Correct Answer : C

(3). What is the reason of lamp glowing dim and motor running slow in a domestic
wiring circuit? | TR AR Afde | o TH® B4 3R Hiex i 71fd I e &1
T HRUT5?

(A) Open circuit in the neutral line | gl <llg H gl gy
(B) Short circuit between conductors | W%WWW



(C) High value series resistance fault | 3=l HIH guft gRuy gy
(D) Open circuit in the earth conductor | H\Wﬁﬁﬁmqﬁqﬂ

Correct Answer : C

(4). Which instrument is used to test new domestic wiring installation? | :I'Q‘EIQT;[

IR RITGAT HT URIE0T o= o foTT o SUHRUT b1 IUANT fobaT ST 82
(A) Multimeter | HeclHIE

(B) Megger | TR

(C) Shunt type ohmmeter | RiE UBR 3Ma HicX \

(D) Series type ohmmeter | SUN UHR 37gT Hiex Q

Correct Answer : B @

(5). What is the type of test in the w@stallatlon? | IR RITYAT H GR&07
HTUHR T g2

(A) Polarity test | Yddl SId
(B) Open circuit test | @TWUW



(C) Insulation resistance test between conductors | W%ﬂ?ﬂw
PISNEEIE!

(D) Insulation resistance test between conductors and earth | WQH “{&[%
T ST WeRIY S

Correct Answer : D

(6). What is the permissible leakage current in domestic wiring installation? | Eﬁ?’j\
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(A) 1/5 x Full load current

(B) 1/50 x Full load current Q’}v
(C) 1/500 x Full load current

(D) 1/5000 x Full load current @

Correct Answer : D

(7). What is the type of test w@r&stlc wiring installation? | MWW
FUAGU HTUBR FTE? (X
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(A) Polarity test | WW
(B) Continuity (or) open circuit test | ﬁR'_CR_dT(HT) @Tqﬁqﬂﬁﬁ



(C) Insulation resistance test between conductors | W%ﬂ?ﬂw
PISNEEIE!

(D) Insulation resistance test between conductors and earth | WQ_Q’ “{&[%
T ST WeRIY S

Correct Answer : A

(8). What is the formula to find voltage drop of a A.C single phase wiring circuit? |

A.C Thd thol RN URTY & dlecol UTd B (dbTa- &1 9 1 8?2
(A) Voltage drop = IR volt
(B) Voltage drop = IR volt Q’},

(C) Voltage drop = I/R volt

®
(D) Voltage drop=IR/2 volt Q&\‘
Correct Answer : A @
Y

(9). Which factor the thickness f#?culation layer on cables depends upon? |
HEd R SYARA IR 1 g RS WIANR A T2

(A) Current | HC $
(B) Temperature | dTUHIH

(C) Power factor | TTeR haex
(D) Voltage | dice ol

Correct Answer : D

(10). What is the minimum cross- sectional area of copper conductor for flexible
cord as per BIS? | BIS & 3IUR TH HIa & [0l HIUR HSdex Bl YAdH Hid-

JHRAST & FT5?




(A) 2.5 mm?
(B) 1.5 mm?
(C) 1 mm?

(D) 0.5 mm?

Correct Answer : D



